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CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY (HINGLISH)

ALDOL AND CANNIZARO REACTION

1. Compound A and B, both were treated with NaOH, producing a single

compound C.

Compound C


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rqyZb3IbYYYS

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rqyZb3IbYYYS

0
l 0
C — CH,

CH, CH,

OH

this conversion can be achieved by:

A. Dehydration, Hydrolysis

B. Retro aldol and further condensation.

C. Perkin condenasation & Clemmensen reduction.

D. Clemmensen and perkin condensation.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PgWkAEY7sDWj

O
Q — 2594 5 (A): Product (A) is
H,0
0)
3.

This is an example of an interamolecular aldol reaction:

Product (A) is:


https://dl.doubtnut.com/l/_dtUae7WADrjY

Answer: A

° Watch Video Solution

o o

|| || HO~- | A
CH3—C—CH2—CH2—0H2—0H2—0H2—C—H—/> A
(73%)

, product (A) is:

O


https://dl.doubtnut.com/l/_dtUae7WADrjY
https://dl.doubtnut.com/l/_qVfGmlqWhwlK

0
|

oYy
D. (d)

Answer: B

o Watch Video Solution

5. Ph—CH = CHCHO + CH,CH — CHCHO #HX (A)87 %,
14 )

product of this reaction is:

A.Ph(CH = CH), — CHO
B. Ph(CH = CH),CHO
C.Ph— (CH = CH),CHO

D.Ph— CH = CH — CH = CH — CH,.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qVfGmlqWhwlK
https://dl.doubtnut.com/l/_lPayngYp0tgp
https://dl.doubtnut.com/l/_xuQmH16H6UkY

10% NaOH H
6.CHsCHO i y (A): product (A) of the reaction is,
5°C A Ni
A. propanol
B. ethanol
C. butanol
D. pentanol
Answer: C
° Watch Video Solution
O
[l
C - CHj
(1) —NaoH Reactant (A) is :
7. Reactant
(A) is,
O 0

A.CH3 — C — (CHs), — C — CH3


https://dl.doubtnut.com/l/_xuQmH16H6UkY
https://dl.doubtnut.com/l/_omyqNN27pzEj

o o

I |
B.CH, —C — (CH,), —C — H

o o

I |
CH-C-(CH,);-C—-H

o

]
D.CH; — C — (CH,), — CH, — OH

Answer: B

o Watch Video Solution

O CH?,
KOH ,H>0
8.CH;s — C CH, — C’ CHO ——— (A), product Ais
CH3
O
(a)
A.
O
(b)


https://dl.doubtnut.com/l/_omyqNN27pzEj
https://dl.doubtnut.com/l/_9c4eKVL0yAwa

(c)

(d)

Answer: B

° Watch Video Solution

@)
__LDA o (A) ; ProductA is:
CH3;-CH, -1 (major)
9, product (A)
is
(@)


https://dl.doubtnut.com/l/_9c4eKVL0yAwa
https://dl.doubtnut.com/l/_MtJJyxahJQMe

(b)
B.
0]
(c)
C.
0
(d)
D.
Answer: B

o Watch Video Solution

10. the reaction
CHO
@CHO+ conc. NaOH —, * broducts Identify the product.
heat
NaOH —> )

products identify the product.


https://dl.doubtnut.com/l/_MtJJyxahJQMe
https://dl.doubtnut.com/l/_v9KGgForqE2z

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_v9KGgForqE2z

A

n

Compare enolate A with enolate B.

Which of the following statements is true?
A. A is more stable than B
B. A and B have the same stability.
C. B is more stble than A

D. No comparison of stability can be made.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kGui9ErfByLg
https://dl.doubtnut.com/l/_Iz1dRC9i1tX8

12. Benzalacetone is the product of mixed aldol condensation between
benzaldehyde (CsHsCH = O) and acetone [(CHs),C' = O] What s its

structure.?

o

'
A.CeHsCH = ChCCHjs

B.CeHsCH = C(CH3)2
(0]
|
C.CeHsCCH = CHCHj;
(0]

|
D.C¢H;CH,CCH = CH,.

Answer: A

o Watch Video Solution

13. Identify the major product P in the following reaction:

O O 0
U + Cl\)\H aq. NaOH P


https://dl.doubtnut.com/l/_Iz1dRC9i1tX8
https://dl.doubtnut.com/l/_QADPVorFn7Vy

O
A. 0
)
0
B.
(o) m
C O ©
N
(d) 0
O
D.
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QADPVorFn7Vy

14.

Product (B) is

0O
(a) ﬁj—O
A.
@)
(b)
B.
O
oo
C.
O
D.

Answer: B


https://dl.doubtnut.com/l/_wO7Jn0zXhmkb

° Watch Video Solution

(i) CHyCH,I/THE _ p

4 a OFt (i) H;0"

15.

Identify the major product P in the following reaction:

[¢] [¢]
e CH!\)J\)]\
OFt

A.
CH4CH,0
CH, — CH,4
OCH,4CH,
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wO7Jn0zXhmkb
https://dl.doubtnut.com/l/_8rl6nPp77Kip

O
(Y)

16.

The enolate ion that reacts with 3-buten-2-one to form (Y) is:

O

(a)

(b)


https://dl.doubtnut.com/l/_8rl6nPp77Kip
https://dl.doubtnut.com/l/_7aewg4WQOMhv

Q
(c)
O
C.
0O
S)
(d)
D @)
Answer: C

o Watch Video Solution

0

14
CHj3 0 base HO(dil)
—> (A), (1) + CHy — > ®
7. I H

H
1

Product (B) in the above reaction is :

(0]

(a) CH, WI\
A

14 H

(b) 14 /\/\/\
CHy” ™ N \O


https://dl.doubtnut.com/l/_7aewg4WQOMhv
https://dl.doubtnut.com/l/_0y6KGNNEz1KR

14
Br

CHj,
o Lt
C
Z C

C. S H
14— O
D.
Answer: A

o Watch Video Solution

o
| HO~- .
8.H-C-D (—7; product of this cannizaro reaction is
50 %

A.D — CO; + CH,DOD
B.H— CO, +D—CO;
¢.D - CO; + CH,DOH

D.D — CO; + CHD;OH

Answer: C

| e


https://dl.doubtnut.com/l/_0y6KGNNEz1KR
https://dl.doubtnut.com/l/_ERVPZ927i5es

I & Watch Video Solution

19. An organic commpound with the jmolecular formula CyH19O forms a
2,4-DNP derivative, reduces tollen's reagent and undergoes cannizaro
reaction, on vigorous oxidation it gives 1,2-benzenedicarboxylic acid.

Structure of organic compound is:

(a

(b)

)
Joe

(d)

CHO
f _CHO
O
CH,
CHO
Iiog\cﬂo

A
B.
C.
D.


https://dl.doubtnut.com/l/_ERVPZ927i5es
https://dl.doubtnut.com/l/_jqYGFpnBT3R2

Answer: B

° Watch Video Solution

o o

I wo Il
20.H-C-DX8p_Cc®Cc- +CH,D—OH

Above reaction is known as,
A. Cannizaro reaction, Disproportionation reaction
B. Tischenko reaction, Disproportionation reaction
C. Cross cannizaro reaction, redox reaction.

D. Tischenko reaction, redox reaction.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jqYGFpnBT3R2
https://dl.doubtnut.com/l/_6S8X3QMNDcFL

CH,
I

CH,4
+ CH HO . Dr o
@O / (Conjugate—addition)ﬁ) (A); Product (A) is :

C=0
/
21. CHs product
(A) is,
O
A.
"Q0
B. O
O
C.
D. O
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mMVry7HK6QU4

CHO

OH

(2)H,0

22. Identify

product and name of reaction.

. Aldol condensation

, Perkin reaction
(¢}

(b)

, Cannizaro reaction

©

CH = CH — CO,H
D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mMVry7HK6QU4
https://dl.doubtnut.com/l/_xeboVwpATyu3

HO™
~
(cat.)
23.

Choose the most reasonable reaction intermediate for the following

reaction.
O
(a) /U\/\/\
A.
O
(a) /U\/\/\
B.
O
(a) /U\/\/\
C.

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OXzXYcW2tME7

24,

OH o)
\ ' HO- Na2CO
CH;— CH—-CH,—C — H s (A),3HCHO + A ——
(Reduction aldol) 40°C (8
Product (B) of the above reaction is:
CH, —OH
(a) HO—CHz—(li—CHZOH
CH, —OH
A.
CHO
) HO—CHZ—C[.——CHO
(‘ZHZ—OH
B.
CH,OH
© HO-CHZ—(IZ—CHZOH
. bo
CHO
(@) HO—CHz—é—CHZ—CHZ—OH
D ‘CHZ—OH
Answer: C
° Watch Video Solution
OH~ A .
25.CH3;CH = CHCHO - > Product A is

Aldol condensation


https://dl.doubtnut.com/l/_77otwGphjI5j
https://dl.doubtnut.com/l/_5CvsXjTdhe58

A.CH3(CH = CH),CHO
C.CH;(CH,CH3)CH = CH — CHO

D. none is correct.

Answer: A

o Watch Video Solution

0O
HO®,
~H,0 B (A) and (B) are isomer : Identify (B) .
6. W

are isomer Identify (B).

(A) and (B)

O

(a)


https://dl.doubtnut.com/l/_5CvsXjTdhe58
https://dl.doubtnut.com/l/_WkUrM69LBYHc

(b)

B.
O
(©)
C.
O
(d)
D.
Answer: A

o Watch Video Solution

Iﬁ ”
. o HO™ . s -
EZ — (A)—2— (B) . (C) ; Product (C) is

(72%)

27. product

(Q) is:


https://dl.doubtnut.com/l/_WkUrM69LBYHc
https://dl.doubtnut.com/l/_rYp6iW4uwg8D

(b)

O
'e
A

oL

C — CH4
C.
CHO
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rYp6iW4uwg8D

+ H _ HCl/heat . A. Product (A) is:

28.
Product (A) is:
(0]

0

A

I
(b) Ph-~C~CH, - CH, - Ph

(c) Ph-CH=CH fH ~Ph
OH
C.

(d) Ph-CH=C=CH-Ph

Answer: A

o Watch Video Solution

29. Which of the following reactant on reaction with conc. NaOH followed

by acidication gives the

following lactone as the product?



https://dl.doubtnut.com/l/_LCvk4QLG3vpK
https://dl.doubtnut.com/l/_OADmnMUtEsAX

1
C——OCH3
(a) @C 0,H
A
CO,H
(b)
B. CHO
CHO
o0
CHO
C.
(X
CO,H
D.



https://dl.doubtnut.com/l/_OADmnMUtEsAX

l ° Watch Video Solution

Br
x
NaOH
— Product; Product is:
OH
30. Product is:
OH
D
(a)
OH
A.
" OLY
O
B.
OH
(c)
OH
C.
x
(d) o
D.

Answer: B


https://dl.doubtnut.com/l/_OADmnMUtEsAX
https://dl.doubtnut.com/l/_wY3fmvJ7anhv

° Watch Video Solution

(P) KOH

N
7
A
31.
A.Ph — CH = CH — CH;
ACH;
5 (b)Ph—CH=C\CH3
CH,
|
C.Ph— C =CH - CH;
CH;
|
D.CH; — C = CH,
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wY3fmvJ7anhv
https://dl.doubtnut.com/l/_SgKuosKNHuhw

CHO

+ HCHO
OMe

OMe
32.

The following reaction gives:

CH,OH
(@) + CH,OH
OMe
A OMe
CH,OH
® + HCOS
OMe
B OMe
COOH
() + HCOOH
OMe
C OMe
COOH
(@ + CH;0H
OMe
D OMe
Answer: B

conc.NaOH

»?

° Watch Video Solution



https://dl.doubtnut.com/l/_mIwIIKQfrkxp

33. Which of the following is not the product of an intramolecular aldol

condensation?

Q

Oy
ge

o

A.
(b
B.
(o)
C.
(d)
D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mIwIIKQfrkxp
https://dl.doubtnut.com/l/_EB68VIxH5r0F

34. Choose the reactant whose aldol reaction would give jasmone.

O

HO" —
heat
(aldol reaction) jasmone

~J
y

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EB68VIxH5r0F
https://dl.doubtnut.com/l/_39Tsf68W8VP1

OH

X __NaOH Heat Hy/Pd 1.LiAlH,4
2H,0

35.
Compound X undergoes the following reaction sequence. What is the

structure of compound X?

(a)

A.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MACPLOMftU8O

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_heclyFLL2MOH

CHO Conc KOH H*
— (A) —— (B)
%CHO ° Cyclic product

Structure of (B) is :

37.

Structure of (B) is:

@
a) 0
b) : COOH

@ CH,OH


https://dl.doubtnut.com/l/_heclyFLL2MOH
https://dl.doubtnut.com/l/_DeAfCEMmFGof

: COOK
: CH,OH

(d)

Answer: A

° Watch Video Solution

38. Which of the following is not the product of an intramolecular aldol

condensation?

O

(a)

(b)

(c)


https://dl.doubtnut.com/l/_DeAfCEMmFGof
https://dl.doubtnut.com/l/_OK8tS4jn8Y2r

()

Answer: C

° Watch Video Solution

D
Conc. KOH H
- (1) - O

A

X)

39, 0

Compound (X) is obtianed by which of the following reaction?

Hy—OH ) noles of pc
(a) E——— .
in CH,Cl,
CH,—OH

A

[o]

[
C—O—FEt
) @: 2 moles of DIBAL-H
ﬁ—cx-i3
o]

(o}

I

c—cl -
(c) i B
Pd - BaSO,
C CH,—C—Cl


https://dl.doubtnut.com/l/_OK8tS4jn8Y2r
https://dl.doubtnut.com/l/_GLCVMeMZ4GnN

(0}

CHMghr
(C)) .

D.

Answer: A

° Watch Video Solution

40. Mechanism of cannizzaros reaction of benzaldehyde is

0 .
I o C\? o 0

| Il
Ph— C\‘/H—}C—Ph Slow_ by —C— OH + Ph—CHy — O
H O—H H

Ph —COj + Ph — CHy— OH

Q. Which of the following reactants can undergo cannizaro's reaction?

I
(a) H—C—H
A
(b) R,CCHO
B.

dwy
C CHO

D. All of these


https://dl.doubtnut.com/l/_GLCVMeMZ4GnN
https://dl.doubtnut.com/l/_cXYoBTvtQmL6

Answer: D

° Watch Video Solution

41. Mechanism of cannizzaros reaction of benzaldehyde is

T‘) HO™ C:(lr

ph— C‘

Ph— C\‘@C\ﬂm SOW, pp— g — OH + Ph—CH, — O
H O—H H

Ph —CO, + Ph — CHy — OH

Q. Order of the above reaction is

Al

B.2

C.3

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cXYoBTvtQmL6
https://dl.doubtnut.com/l/_mFmyOpoSzMt4

42. Mechanism of cannizzaros reaction of benzaldehyde is

(ﬁ HO" QE\Y e

— Il Il B
Ph (\: Ph— C\‘/H_+\*c—ph oW, by — C— OH + Ph—CHy — O

H O—H H

Ph —CO;, + Ph — CHp —OH

Q. Which of the following is best hydride donor in cannizaro's reaction?

CHO

(a)

<O

CHO

(b)

<O

CHO

(0

<O

CH,


https://dl.doubtnut.com/l/_PStbuHpNG0pU

CHO

(d)

Cl

Answer: A

o Watch Video Solution

43. Mechanism of cannizzaros reaction of benzaldehyde is

(0] _
g] HO C\? /—\(\)\ ?\)

Ph | Ph*c\‘ﬂ + C—ph W, py _C—OH + Ph—CH,— O
H O—H H

Ph —CO, + Ph — CH —OH

Q. Cannizaro's reaction is

A. Reduction

B. Disproportionation reaction

C. Oxidation

D. lon-exhange reaction.


https://dl.doubtnut.com/l/_PStbuHpNG0pU
https://dl.doubtnut.com/l/_vXska42Q3ZhZ

Answer: B

° Watch Video Solution

44. Mechanism of cannizzaros reaction of benzaldehyde is

0 _
I o Czl) 0 o

I i\ _
Ph“c\*/H—}C-Ph oW | by —C— OH + Ph—CH, — O
H O—H H

Ph —CO, + Ph — CHy — OH

Q. Which of the following cannot undergo intramolecular cannizaro's

reaction?

o o

ol
AH-C-C-H

o o

ol
BBH—-C—-C— Ph

o o

[0l
C.Ph—-C—-C—Ph

o o

ol
DDH-C-C-H

Answer: C

| O A _L vl . o ~_ 1.0 ]



https://dl.doubtnut.com/l/_vXska42Q3ZhZ
https://dl.doubtnut.com/l/_UK1b58uUp095
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45. Aldol condensation proceeds by carbon-carbon bond formation
between an enolate donor and a carbonyl acceptor. For each of the
following aldol products (a thorugh e) select a donor and an acceptor
compound from the list at the bottom of the page (compounds A
through H). write the letter corresponding to your selection in the

appropriate answer box.


https://dl.doubtnut.com/l/_UK1b58uUp095
https://dl.doubtnut.com/l/_XPQCidC3hOao

Aldol Product

(CH,),C(OH)CH,COCH,

; C0,C,Hs
"e. E>=<

CO,C,H,

©/ E>':o (©) ©/\CHO MH,LC=0
0, 0O
CO,CoHg
® (j/ ® 1y @ J_ (H)Q—CHO
™ C0,C,H; HsC CHj

a)

o Watch Video Solution

46. Aldol condensation proceeds by carbon-carbon bond formation
between an enolate donor and a carbonyl acceptor. For each of the
following aldol products (a thorugh e) select a donor and an acceptor

compound from the list at the bottom of the page (compounds A


https://dl.doubtnut.com/l/_XPQCidC3hOao
https://dl.doubtnut.com/l/_1XlIY9iX0qwN

through H). write the letter corresponding to your selection in the

appropriate answer box.

Aldol Product Donor Accept,

Ry oH
L |
l

CHO
0
(o
0
=)

|
|
|
|
|
d. I[ (CH ) ,C(OH)CH,COCH,
|
|
|
[

|

[

: CO,CyHs

CO,C,Hs

CHO
(A)©/ (B) Q:o © ©/\CHO (DH.C =0

(0]

O
CO,C-H
(E)O/ ®nc] @ /U\ (H)gcm
~ HqC CH,

CO,C,Hs

° Watch Video Solution

47. During an experimental workup procedure, a chemist treated a

starting material with NaoH in the solvent acetone [(CHg)ZC’ = O],


https://dl.doubtnut.com/l/_1XlIY9iX0qwN
https://dl.doubtnut.com/l/_Yenectv1Zbb3

however, the starting material was recovered unreacted. Instead, the
chemist isolated a small amount of product A (shown below).

Product A

1. Elemental analysis of product A indicated that it consisted only of
carbon, hydrogen, and oxygen.

2. Product A had a molecular weight of 116 g/mol.

3. Product A was a methyl ketone because it gave a positive iodoform test.
4. When product A was treated with Bry in CCly, the red bromine colour
persisted, because no carbon-carbon double bonds were present to react
with the bromine.

The structure of product A was further confirmed when treatment with
hot sulfuric acid resulted in the corresponding dehydration product,
product (B)gt

Q. What is the molecular weight of a compound that undergoes an aldol
self-condensation reaction to result in a [-hydroxy ketone with a

molecular weight of 1447

A.70g/mol

B. 72g/mol


https://dl.doubtnut.com/l/_Yenectv1Zbb3

C.74g/mol

D. 76g/mol

Answer: B

o Watch Video Solution

48. During an experimental workup procedure, a chemist treated a
starting material with NaoH in the solvent acetone [(CHj;),C = O],
however, the starting material was recovered unreacted. Instead, the
chemist isolated a small amount of product A (shown below).

Product A

1. Elemental analysis of product A indicated that it consisted only of
carbon, hydrogen, and oxygen.

2. Product A had a molecular weight of 116 g/mol.

3. Product A was a methyl ketone because it gave a positive iodoform test.
4. When product A was treated with Bry in CCly, the red bromine colour
persisted, because no carbon-carbon double bonds were present to react

with the bromine.


https://dl.doubtnut.com/l/_Yenectv1Zbb3
https://dl.doubtnut.com/l/_QdPB1Htb6PoM

The structure of product A was further confirmed when treatment with
hot sulfuric acid resulted in the corresponding dehydration product,
product (B)gt
Q. The aldol self-condensation of acetone is an equilibrium that favours
acetone over its condensation product. which of the following
experimental modifications is most likely to shift the position of
equilibrium towards product A?

A. Using only a catalytic amount of NaOH

B. Using only a catalytic amount of acetone

C. Removing product product A as it is formed

D.Increasing the reaction temperature to the boiling point of

acetone.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QdPB1Htb6PoM

49. During an experimental workup procedure, a chemist treated a
starting material with NaoH in the solvent acetone [(CHj),C = O],
however, the starting material was recovered unreacted. Instead, the
chemist isolated a small amount of product A (shown below).

Product A

1. Elemental analysis of product A indicated that it consisted only of
carbon, hydrogen, and oxygen.

2. Product A had a molecular weight of 116 g/mol.

3. Product A was a methyl ketone because it gave a positive iodoform test.
4. When product A was treated with Bry in CCly, the red bromine colour
persisted, because no carbon-carbon double bonds were present to react
with the bromine.

The structure of product A was further confirmed when treatment with
hot sulfuric acid resulted in the corresponding dehydration product,
product (B)gt

Q. Based only on observation 1 and 2, which of the following compounds

could have been product A?

A.CH, C HCH,CH,CH,CH,CH,
\
CH;


https://dl.doubtnut.com/l/_jYyVZWUsIYL5

o OH

I |
B. CH;CCH, C HCHy,CHy,CHs.

C.CH, = CHCH, — O — CH,CH,CHj

OH

WX
OH

Answer: D

D.

o Watch Video Solution

50. During an experimental workup procedure, a chemist treated a
starting material with NaoH in the solvent acetone [(CHj;),C = O],
however, the starting material was recovered unreacted. Instead, the
chemist isolated a small amount of product A (shown below).

Product A

1. Elemental analysis of product A indicated that it consisted only of
carbon, hydrogen, and oxygen.

2. Product A had a molecular weight of 116 g/mol.

3. Product A was a methyl ketone because it gave a positive iodoform test.


https://dl.doubtnut.com/l/_jYyVZWUsIYL5
https://dl.doubtnut.com/l/_7luhUN1aob6B

4. When product A was treated with Bry in CCly, the red bromine colour
persisted, because no carbon-carbon double bonds were present to react
with the bromine.

The structure of product A was further confirmed when treatment with
hot sulfuric acid resulted in the corresponding dehydration product,
product (B).

Q. When a drop of Bry in CCl, is added to product B, the resulting

solution will ew

A. colourless, because product B does not contains a carbon-carbon

double bond.

B. colourless, because product B contians a carbon-carbon double

bond

C.red, because product B does not contain-carbon double bond.

D. red, because product B contains a carbon-carbon double bond.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7luhUN1aob6B

51. During an experimental workup procedure, a chemist treated a
starting material with NaoH in the solvent acetone [(CHj;),C = O],
however, the starting material was recovered unreacted. Instead, the
chemist isolated a small amount of product A (shown below).

Product A

1. Elemental analysis of product A indicated that it consisted only of
carbon, hydrogen, and oxygen.

2. Product A had a molecular weight of 116 g/mol.

3. Product A was a methyl ketone because it gave a positive iodoform test.
4. When product A was treated with Bry in CCly, the red bromine colour
persisted, because no carbon-carbon double bonds were present to react
with the bromine.

The structure of product A was further confirmed when treatment with
hot sulfuric acid resulted in the corresponding dehydration product,
product (B)gt

Q. Wihch of the following compounds from the passage will give a

positive iodoform test.?

A. Product A only


https://dl.doubtnut.com/l/_FXKEZW1LETaj

B. Product A and product B

C. Product A and acetone only

D. Product A, product B, and acetone.

Answer: D

o Watch Video Solution

)
A=sp + ¢ —20=K% o Benzy] alcohol + salt of benzoic acid

(0]
1 ke |
O HCN
H;0°®
52. D=p—E

Q. Structure of A is:

A .H,C =CH - CHO

B.Ph— CH = CH — CHj3

C.Ph— C =CH,
\
CH3

D.Ph— CH = C — CH;j;
|
CHs


https://dl.doubtnut.com/l/_FXKEZW1LETaj
https://dl.doubtnut.com/l/_GvfaOMzlhiuL

Answer: B

° Watch Video Solution

A2.p ¢ —cone. KOH _ Benzyl alcohol + salt of benzoic acid
I
1 KOH_, CH;—CH—CH,—C—H
Su HCN
H;0°
53. D=f—E

Q. Structure of (B) and (C) differentiated By,

A. Tollen's reagent

B. Fehling solution

C.2,4-DNP

D. N(IHSO:J,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GvfaOMzlhiuL
https://dl.doubtnut.com/l/_WskqZDwVHnRn
https://dl.doubtnut.com/l/_tmHRU8GNhWb1

54. An organic compound 'P' with jmolecular formula CgHgO forms an
organic red ppt with 2,4 — DN P gives yellow ppt. on heating with I, in
presence of NaOH. It neither reduces tollen's or fehling reagent nor
does it decolourise Bry water or baeyer's reagent. On drastic oxidation
with chromic acid (H,CrO,) it gives an acid (Q) having molecular
formula C;HgOs.

Q. Identify compound P:

O
Il

C—H
(a)
CH,4

A
OH
b)
HyC
B. CHy
@LH“
.

H,C


https://dl.doubtnut.com/l/_tmHRU8GNhWb1

Answer:

o Watch Video Solution

55. An organic compound 'P' with jmolecular formula CgHgO forms an
organic red ppt with 2,4 — DNP gives yellow ppt. on heating with I, in
presence of NaOH. It neither reduces tollen's or fehling reagent nor
does it decolourise Bry water or baeyer's reagent. On drastic oxidation
with chromic acid (H,CrO,) it gives an acid (Q) having molecular

formula C; HgO,.

NaOH /CaO/ A
Q.Q ——— > R (Major product).

R will be,


https://dl.doubtnut.com/l/_tmHRU8GNhWb1
https://dl.doubtnut.com/l/_c8dU2D00ILYc

Q0
O

C.

D.

Answer: C

o Watch Video Solution

56. An organic compound 'P' with jmolecular formula CgHgO forms an
organic red ppt with 2,4 — DNP gives yellow ppt. on heating with I, in
presence of NaOH. It neither reduces tollen's or fehling reagent nor
does it decolourise Bry water or baeyer's reagent. On drastic oxidation
with chromic acid (H,CrO,) it gives an acid (Q) having molecular

formula C; HgO,.

e
dil .OH g CH3MgBr(1 mole)
\
4

\
[4

Q.P

H;0®

No. of stereoisomer in the final product T:

A.2


https://dl.doubtnut.com/l/_c8dU2D00ILYc
https://dl.doubtnut.com/l/_qyVaU7JJAkTO

B.3

C.4

D.6

Answer:

° Watch Video Solution

Level 1Q1To Q30

(1) 03 NaOH ©—CHy
(4) (ii) Zn.H,O (?) A

1. the

reactant (A) will be

(a)


https://dl.doubtnut.com/l/_qyVaU7JJAkTO
https://dl.doubtnut.com/l/_U3aLRT4ad5gs

(b)

(c)

CH2

(d)

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_U3aLRT4ad5gs

@ NaOH ,
CHzCH =0 ethanol, water, heat H20 +7

Identify the principal product of the following reaction?

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_2zzwdBTjMN1X

3. Which one of the following compounds is the best choice for being

prepared by an efficient mixed aldol addition reaction.

OH O

[l
@ @— CCH,CH
|

A CHj,

O

I
(b) @ CCHCH,
I

CH,OH

(0]

I
© OCHZCCIHCH3

HO — C — CH,

|
CH,

0 0
l Il

) @— CCH,CH,CH
D.

Answer: B

o View Text Solution

4.l

Number of intramolecular aldol condensation product is:


https://dl.doubtnut.com/l/_C6MCb9dIweb3
https://dl.doubtnut.com/l/_OOrPaqUDpc86

Al

B.2

C.3

D.4

Answer: C

o View Text Solution

O3
5 (A4) —— (B) + (0)
C-Hyy Zn/AcOH

Commpound (A) exist in geometrical isomers and (B) gives cannizaro

reaction. (A) will be

CH;
|
A.CH, — |CH— C = CH - CH,
CH;

B. (CH3)3CCH2 - CH - CH2

C.(CH;),C — CH = CH — CHj



https://dl.doubtnut.com/l/_OOrPaqUDpc86
https://dl.doubtnut.com/l/_GKXSpBvFoyo0

CH3
|
D.CH; — c|7 — CH, — CH = CH,.

CHs

Answer: C

° View Text Solution

6. Which of the following compounds will not undergo cannizaro

reaction, when treated with 50% aqueous alkali?

o

I
APh—-C—-H

o[
O CHO

B.
C.MesCHCHO

D.Ph — CH, — CHO

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_GKXSpBvFoyo0
https://dl.doubtnut.com/l/_MAfen1PSCwKU

Level 1Q 31To Q 48

Oe
|
1. x=no of compound better hydride donor than Ph — C' — O°

|
H
Oe
(a) /@'—<oe
A O,N
O@
®) /@<o®
B CH30

of
© /@’<oe
c. oH
o°
(d /©—CZI3<OG
D CH3

Answer: B::C

° View Text Solution



https://dl.doubtnut.com/l/_bA3NTUYIhRE0

H H

)

| |
2.0:0—?:03110: ¢ 0 OH

H o H

Given reaction is cannizaro reaction at normal concentration of base.
Predict the order of above reaction.

A1

B.2

C.3

D.4

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_HoIcEo6Nmqiu

(1) Oy/Zn
(2) conc. KOH

7) i >'\/0H + HCO3K®

HBr
ccl, ~ (B)

3 major

Product (B) is,
(a) N
A Br
Br
B.
C.
(d) >—<
D.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_obKv1irsgtnp

1. Aldol condensation proceeds by carbon-carbon bond formation
between an enolate donor and a carbonyl acceptor. For each of the
following aldol products (a thorugh e) select a donor and an acceptor
compound from the list at the bottom of the page (compounds A
through H). write the letter corresponding to your selection in the

appropriate answer box.


https://dl.doubtnut.com/l/_mPQAG3XZ2RpT

Aldol Product Donor Accepty,

|
d. (CH;),C(OH)CH,COCH,
CO,C,H,
e. O=<
7 o C02C2H5

" _CHO
o0 om0 e
™ (:r ® e /U\
C02C2H5 ch

o View Text Solution

2. Aldol condensation proceeds by carbon-carbon bond formation
between an enolate donor and a carbonyl acceptor. For each of the
following aldol products (a thorugh e) select a donor and an acceptor

compound from the list at the bottom of the page (compounds A


https://dl.doubtnut.com/l/_mPQAG3XZ2RpT
https://dl.doubtnut.com/l/_dKAHVrla74fC

through H). write the letter corresponding to your selection in

appropriate answer box.

‘ Aldol Product Donor Accept,
| L
"
{ CHO
|
| 0]
b.
OH
Il |
0
C.
O
| d.
(CH3),C(OH)CH,COCH,
CO,C,Hs I
e.
} CO,C,H;
o7 WO T
0
C0O,C,Hs
(B)Of (F) H, 2C - (&) /U\ H)Q—CHO
~Sco,CHs  HiC cH

the

o View Text Solution

3. Aldol condensation proceeds by carbon-carbon bond formation

between an enolate donor and a carbonyl acceptor. For each of the

following aldol products (a thorugh e) select a donor and an acceptor


https://dl.doubtnut.com/l/_dKAHVrla74fC
https://dl.doubtnut.com/l/_f14w1B2bP7mw

compound from the list at the bottom of the page (compounds A
through H). write the letter corresponding to your selection in the

appropriate answer box.

Aldol Product

d. (CH),C(OH)CH,COCH

f CO,C,Hy

[:>=<

C0,C,Hs

CHO

(0]

o
CO,C,Hs
® Ej/ ® nc” ©) (H) CHO
NCo,CHs  HiC CHy

o View Text Solution

4. Aldol condensation proceeds by carbon-carbon bond formation

between an enolate donor and a carbonyl acceptor. For each of the


https://dl.doubtnut.com/l/_f14w1B2bP7mw
https://dl.doubtnut.com/l/_wnwUjEv0V3tT

following aldol products (a thorugh e) select a donor and an acceptor
compound from the list at the bottom of the page (compounds A
through H). write the letter corresponding to your selection in the

appropriate answer box.


https://dl.doubtnut.com/l/_wnwUjEv0V3tT

SUILL LR

ponding to voul

|
|

?
| CHO
I
i o

b. |
| OH

{‘ 1

]

L ! {CH .} .C(OH)CH COCH,

I |
; ’( CO,C,H,

- O~ |
| |
b €0, CyHs

Lo letter corresponding 1o Voul seieion 1

70w
» Aldol Product
l (\ OH
i H
al A
|
|
‘ CHO
I
o
b. |
[ 2 OH
| 0
!
.|
| J (;H—@
| |
1
H {
| d ; CH ) .C(OH)CH ,COCH ,
| |
{ ‘! CO,C,Hs *
Lo O=<
i ]
[ CO,C,H;

° View Text Solution



https://dl.doubtnut.com/l/_wnwUjEv0V3tT

5. Aldol condensation proceeds by carbon-carbon bond formation
between an enolate donor and a carbonyl acceptor. For each of the
following aldol products (a thorugh e) select a donor and an acceptor
compound from the list at the bottom of the page (compounds A
through H). write the letter corresponding to your selection in the

appropriate answer box.

Aldol Product

|
fl d. / (CH.)_C(OH)CH,COCH,,
.|
[ C0O,C,H,
e.
L / C0O,C,Hs

o View Text Solution



https://dl.doubtnut.com/l/_HMK91G0axOER

6. Aldol condensation proceeds by carbon-carbon bond formation

between an enolate donor and a carbonyl acceptor. For each of the

following aldol products (a thorugh e) select a donor and an acceptor

compound from the list at the bottom of the page (compounds A

through H). write the letter corresponding to your selection in the

appropriate answer box.

Aldol Product

Donor Aceepty,

(CH,).C(OH JCH,COCH ,

CO.JCJHE

/ C0,C,H;

CHO

_-CO.CH
(F) H,C
CO,C,H:

0.

°(©)

(B) on (© ©/\CHO DIH,C =0
0
/U\ H
HLC CH, ()Q\CHO

| o A\ mnns Tanrdk C ol a


https://dl.doubtnut.com/l/_CqnBBsZJkRR3

L VICVV ICAL DVIVLIVII

A2.p s —conc. KOH _ Benzyl alcohol + salt of benzoic acid
i
A0 CHy—CH—CH;—C—H
OH HCN
H;0°®
7. Py

Q. Structure of E is:

A.
OH
B. 0”0
OH
(c}l !
C. 0”70
Me


https://dl.doubtnut.com/l/_CqnBBsZJkRR3
https://dl.doubtnut.com/l/_3qKHRJKRZLin

Answer: C

° View Text Solution

A2ep 4 ¢ —concKOH _ ponzyl alcohol + salt of benzoic acid

: I
dLIOH . GHy—CH—CH,—C—H
&n HCN
H;0°
8. Pt

° View Text Solution

A%ep i —conc. KOH_ Benzyl alcohol + salt of benzoic acid
]
dLKOH o CHy—CH—CH,—C—H
S HCN
H;0°
9. S

° View Text Solution



https://dl.doubtnut.com/l/_3qKHRJKRZLin
https://dl.doubtnut.com/l/_oIReWxM0Tmqy
https://dl.doubtnut.com/l/_B4NMQFaqIhQo

O
A=tsp + ¢ —neKOH __ Benzyl alcohol + salt of benzoic acid

I
I KOH_,. CHy—CH—CH,—C—H
ou HCN
H;0°
D—",
10. Ak

° View Text Solution

Subjective Problems

o o oH o 0 0
. H&/ AN A~ on HJH/kc)H HJ\‘)\
(B) © D)

OH OoH
(A) (E)

HO\/CJ)\/\ \/ﬁ\/oi /loj\/oi HO)OJ\/\ Ho’\/L\(

[0}
1 ® ©) (1) ) o

X=number of compound obtained by aldol reaction
Y=Number of compounds react with NaHCOj;

Sum of X+Y is

° View Text Solution



https://dl.doubtnut.com/l/_yPdbg1Rk7spD
https://dl.doubtnut.com/l/_THnC9gJOLSfO

0 HO 1 OH
Il
— KOH c
CH; — C—CH; + x HCHO —>— Ho OH
HO HO

x=moles of HCHO consumed.

Value of (x) will be.

° View Text Solution

o o

|| | KOH (aq.)
3.CH3—C—CH3+CH3—CH2—C—CH?,T) (X)

X=Number of aldol condensation product (including stereoisomer).

Find out the value of (X).

° View Text Solution



https://dl.doubtnut.com/l/_Tk81o4aVoq9t
https://dl.doubtnut.com/l/_bF5fBn1ipUmO

